ISEVITRI Eron”

REST PADS  No.E-9783

CBF:SNCM220 CBS:E#% CBJFILU*
CBF:BEAHRC60~62
CBF:2Z)

KT VTR A DBREHETT .

( OISV FN—HEDFIHICE T, D—TDHTELTTHIRA
| <L,
\ ) OCBS (Bix),CBJ (#8) 9 1 T B EDT—T -+ E(FRIC
BUTEI,
CBF CBJ o8
;
y g
HINE
W% g = * [EEMRER
HEtA X CBF (SNCM220) CBS (B#&) CBJ (t88)

A@BE) B C D | #—9—No. No. |EBg| ffi#& | #—5—No. No. |EEg| ffit& | #—5—No. No. |EBg| fit&
M5x0.8 10 10:5 |%951132 |CBF05-1010| 5| 3,330 | * 951142 |CBS05-1010| 1 | 3,230 | * 951147 |CBJ05-1010| 1 | 3,130
M5%0.8 10 12:6.4| % 951133 |CBF05-1012| 6 | 3,360 - . - - | %951148 |CBJ0O5-1012| 1 | 3,170
M5X0.8 12 10:5 |%951134 |CBF05-1210| 8| 3,490 | * 951143 |CBS05-1210| 2 | 3,380 | * 951149 |CBJ05-1210| 2 | 3,280
M5X0.8 12 12:6.4| % 951135 |CBF05-1212| 10 | 3,540 - - - - | *951150 |CBJ05-1212| 2 | 3,330
M6X1.0 16 10:5 |%951136 |CBF06-1610| 15 | 3,780 | * 951144 |CBS06-1610| 3 | 3,710 | %* 951151 |CBJ06-1610| 3 | 3,610
M6X1.0 16 12:6.4| % 951137 |CBF06-1612| 18 | 3,820 - - - - | *%951152 [CBJ06-1612| 3 | 3,660
M6X1.0 20 10:5 | %951138 |CBF06-2010| 23 | 4,130 | * 951145 |CBS06-2010| 4 | 4,110 | % 951153 |CBJ06-2010| 4 | 3,970
M6X1.0 20 12:6.4| % 951139 |CBF06-2012| 28 | 4,170 - . : - | *%951154 [CBJ06-2012| 5 | 4,030
M6X1.0 25 10:5 | %951140 |CBF06-2510| 37 | 4,350 | * 951146 |CBS06-2510| 7 | 4,300 | * 951155 |CBJ06-2510| 7 | 4,170
M6X1.0 25 12:6.4|% 951141 |CBF06-2512| 44 | 4,400 - - - - | *%951156 [CBJ06-2512| 8 | 4,200

IS5 TIRIT EroN

CLAMP BUTTONS  No.E-9980

CB:SUM22 CB-SEix CB-N:>-rOv
CBsE AHRC45~50 CB:EZs

0B
m
pv
‘ O
i ; 94T | ADTBE
CB-N 1 CB 15018
—— CB-S 18639
bA CB-N 10050
Wtk flEER * ISR
: : : : CB(SUM22) CB-S(E513) CB-N(FOY)

A B C D E

R #—5—No. | No. |Egg| f@#& | #—5—No. | No. |EEg| M | #—5—No. | No. |m8s| f@
6 10 6 6 RI0| *938396 | CB6 | 51,730 | 938398 |CB6S| 5| 2,000 | % 938400 [CB6N| 4 | 1,730
8 13 6 8 RI3| *938397 |CB8 10| 1,750 | * 938399 |CB8S|10| 2,280 | * 938401 |CB8N| 6 | 1,750

SINCE 1560

NABEYA co.uo. CADF—99 50—k « EHEREE Web U/ rT ! [ AT \ G}\

FriendsNo.219/2022. 1 13{ER

C—SNUMUIN

833



